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1. Use Horizontal Line Test to determine which of the following are the graphs of one-to-one 

    functions. (a)                                                               (b) 

 

 

 

 

2. The definition of an Onto Function: 

    A function ! from " to # is called ______, or a __________, if and only if for every element  

    $ ∈ # there is an element & ∈ " with !(&) = $ and we say ! is subjective. Hence,  

∀$ ∈ #∃& ∈ "(________________). 
3. Check if the given function (or mapping) an onto function.   

    (a)                                                                           (b)  

 

 

 

4. Check if the given function an onto function. (a) !(-) = -! from ℝ to ℝ.  

    (b) /(-) = 2- + 1 from ℝ to ℝ.                     (c) ℎ(-) = 2- + 1 from ℤ to 	ℤ	. 
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5. The definition of a Bijective Function: 

    If a function ! is both ______________ and _______, then ! is bijective.  

6. Check if the given function (or mapping) a bijective function.   

 

 

 

 

 

7. Show that !(-) = -" from ℝ to ℝ is bijective. 

 

 

 

 

 

 

 

 

 

8. The definition of an Inverse Function: 

    Let a function ! be one-to-one from a set " to a set #. Then ! is _____________ and the  

    _________ function of !, denoted _____, assigns !#$(____) = ____ if  !(-) = 6. 
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